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Instructions : (1) All questions in Section — I carry equal marks.
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(2) Attempt any two questions in Section — I.

(3) Question 5 in Section — II is Compulsory.

SECTION -1
What is Human Resource Management ? Explain objectives of HRM.

What is Strategic HRM ? Differentiate HRM and Strategic HRM.

Discuss importance and limitations of HR Planning.

Explain different methods of training for workers.

What is performance evaluation ? Explain process of performance evaluation.

What is social security ? Discuss characteristics of social security.

Explain objectives of trade unions.

What is industrial dispute ? Discuss causes of Industrial disputes.
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10

10

10

10

10

10

10

10



SECTION - 11

5. Choose correct option. (attempt any five) 10
(1) HRM as practiced by multinational organizations is called

(a) Global HRM

(b) Personnel Management
(c) Domestic HRM

(d) International HRM

(2) What is good and bad or right and wrong or has to deal with duty and obligation
is referred to as .
(a) Responsibilities (b) Ethics
(¢) Social expectations (d) Standards

(3) Which is not included in external factors affecting H.R. ?
(a) Trade Unions (b)  Production Process
(c) Trend or Fashion (d) Trade Cycle

(4) Which matter is not indicating the requirement of training ?
(a) Financial reward (b) Technical progress

(¢) Increasing productivity (d) Job satisfaction

(5) Which matter is not related with the importance of training ?
(a) Quality Control (b) Inventory Control
(c) Personnel Control (d) Wastage Control

(6) Who can not be an evaluator of performance ?
(a) Traders (b) Customers
(c) Peer Groups (d) Supervisors

(7) Canteen facilities must be available in the factory where more than
employees are working.
(a) 200 (b) 250
(c) 300 (d) 500
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(8) Who can never be responsible for employee welfare facilities ?
(a) Trade Union (b) Society
(c) Employee (d) Central Government

(9) In the concept of industrial relation, mainly relation with whom is included ?
(a) Shareholders (b) Customers
(c) Employees (d)  Other industries

(10) Which is not included in the economic causes of industrial disputes ?

(a) Wage (b) Dearness Allowance
(c) Bonus (d) Working Condition

SA-132 6



Time : 2 Hours]

PR (1)
(2)
3)
4

1. (A)  sRUlcds AeAA vl AN dHEY drtl @gtoll 24 Hals AL aveuel.

([ACUL = T AL I UL UL BRI 6.
(Giewal — T il sifuel ol UliAL orelol el

SA-132

(AeLL - TT HL U AR 5 599U 8.
ARLAAAL GullaL 531 LAl

Qe —1

September-2020
M.Com., Sem.-1V
507 : Operational Research (Old)

Seat No. :

[Max. Marks : 50

10

(B) A2l el andr Alws-l Heedl (i) 2R-ag, Rigld, (ii) 23R Risid, (iii) @il

Riglc AR AW ¢ URAE $3U. dHY EMV 244 EVPT HUldl.

SN
g2l AeUA-AL A, A, A, A,
S 0.25 37 17 12 47
S, 0.35 12 47 7 12
S, 0.30 17 12 47 7
S, 0.10 57 37 17 12
2. (A AR WRasA AHRRAUAL SeH Bie Hdl.
URRAA
Sy | Sy | S| S| Wrasl

0, 8 1512117 ] 15

Gectd 4 O, 18 [ 22 |16 | 11 | 25

0, 10 [ 14]16]20] 20

AL 9 |21 |20 |10 | 60

(B)  [yfea-ll R 2ed 9] 7 d-il B3 Hie-l ugld Amandl.

SA-132

7

10

10

10
P.T.O.



3.0 (A) Ul SRIA 6L ¥R R4l HI2 @l AHaAL WUl {2 Horel . 10

sl A [B [c [D JE [F |G

p-M, (5 [ 14 [17 |8 |12 [13 |11

-M, [10 |12 |14 |10 |14 |3 |5

~N N N0 N ~N

o Uzl S1L HERAL 5H Ass] 531 S AATH UMY A8 53U 0d sl UR AdRIAL UM

oL Hodl.
(B) el [6lg UMl 24 AU RigiaAl Builal s3] Al 31l Bset Haol. 10
Walél - B
I | 1
17 -12 5

Nall-A 1|2 -4 -1
mlLs3s 9 1

-~

4. (A) s Woyszul 9 sl 6. ¥l HURdL ARIAL SIRsUl 20U 8. 24 WoYs2 U (i) A2ds

&IRL. (if) $21521 v HOel. (iii) Wovs2 Yol srellAl A+ HOl. 10
‘th‘i['?-l a |b |c [d |e f |g h i
UBAl g |- [a [a |[c |c |b |df |b |egh

URAUHA (3[4 |6 |9 (14 [9 |10 13 |15

(B) ARl Alorl |2 U A5l dUIR S URGAE €3 UY[xL W EST, EFT, LST, LFT

2 5l7el AHA (FT) 2L 10

“%Rl -2 13|24 |25 |35 |36 |47 |57 ]| 68 | 7-8

wee) | 7| 6 | 458597710

SA-132 8



([dewt— 11

5. llRAAl WALAL ovalol AL (SLESUBL ) 10
()  Ulds Hizel [l usRl oyl
(i) ¥ 518 A5 s HI2 [Alde AR B2ARAA 2A44ZU HOLAL A0IAR 4454 8, -5, 10 24 20

Sl 2l Bl AERMAL 25 o = 0.6 S, dl d s Hi2 SlduAl Riglazl

N

Y [BAd AR WOl
(i) sBH U 2ied 7| 7 Rzt AdHl d, Herd UMl
(iv)  AlerALSRAL AHRALAL HOGA U Bie WAl HI2HL il 1M oLl
(V) AleAAASRAL UHRAML (el Aed 2 ¢
(vi) QL HllAUUll sH Al AHRAA L 1AL UHRAHL FRAA HIZAL UL vl
(Vi) SADRAL AL : 24 (W) AsRUAL, (M3 UL
(viii) Rl Bael Aol Hizl ol KldAL A @l
(ix) AL : 42 (PERT) L R qHA

(x) 15 UYL Hi2 EST = 9, Ug[xt Hie-l UM = 4, slovel U4 3 S dl d Ug[xL e

~

LFT 204l

SA-132 9 P.T.O.



Time : 2 Hours]

Instructions : (1)
)
3)
4)

SA-132

September-2020

Seat No. :

M.Com., Sem.-1V
507 : Operational Research (Old)

All questions in Section — I carry equal marks.
Attempt any two questions in Section — L.
Question 5 in Section — II is Compulsory.
Use of calculator is permitted.

SECTION -1

[Max. Marks : 50

1. (A) Define Operations Research. Give its characteristics and limitations. 10

(B) Determine the best act for the following pay-off matrix by applying (i) Maxi-min
principle, (i1) Maxi-max principle, (iii) Laplace principle. Also find the value of

EMYV and EVPL 10
Act
Event | Probability A, A, A, A,
S, 0.25 37 17 12 47
S, 0.35 12 47 7 12
S, 0.30 17 12 47 7
S, 0.10 57 37 17 12
2. (A) Obtain the optimum solution for the following transportation problem : 10
Destinations
S, S, | S3 | S4 | Supply
0, 8 1512 | 17 15
Origins 0, 18 | 22 ] 16 | 11 25
0, 10 | 14 | 16 | 20 20
Demand | 9 21 | 20 | 10 60
(B) What is an assignment problem and explain the method for solving it. 10
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3. (A) The data of time for 7 jobs on two machines is given as under : 10

Job A B |C |D |E F G

Machine-M, 5 14 |17 |8 12 113 |11

Machine — M, 10 (12 |14 |10 |14 |3 5

Determine the sequence of the jobs and total minimum time. Also calculate the

idle time on two machines.

(B) Explain saddle point and solve the following game using dominance principle : 10
Player — B
I I I
17 -12 5

Player—-A 11 | 2 -4 -1
I L 3 9 1

4. (A) A project is divided into 9 activities and its information is given below. For this

project (i)  Draw the Network.

(i1)  Obtain the critical path.

(ii) Obtain the project completion time. 10
Activity a|lblc|d]| e |f g h i
Preceding activity | — | a | a | ¢ c |b|df| b |egh
Expected time 31469149 10 |13 15

(B) Prepare a PERT chart for the following project. Determine EST, EFT, LST, LFT

and Float Time for each activity. 10

Activity 1-2 |13 |24 |25 |35 |36 |47 | 57|68 |78

Time(t) | 7 | 6 | 4 | 5 | 8 | 5 |9 | 7|7 10
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SECTION - 11
5. Answer in brief : (any five) 10

(i)  State the types of Physical model.

(i) If for a strategy different pay-offs under four events are respectively 8, -5, 10 and
20 and if coefficient of optimism o = 0.6, find the expected pay-off for the
strategy by Hurwitz’s principle.

(i11)) What is an artificial variable ? Explain its importance in Simplex method.

(iv) Give the name of methods for obtaining basic feasible solution of transportation
problem.

(v) What is degeneracy in transportation problem ?

(vi) State the conditions of reducing a three machine sequencing problem into a two

machine sequencing problem.
(vil) Define : Pure strategy, Mixed strategy.
(viii) Write down the name of two methods for solving problem of game theory.
(ix) Explain. Expected time in the PERT.
(x) For an activity EST = 9, Time for an activity = 4, Float time is 3, then find LFT

for it.

SA-132 12



